Prova pratica n. 3

Donna di 80 anni con recente frattura di femore
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Prova pratica n. 3

Uomo di 77 anni dolore toracico




Prova pratica n. 3
80 anni

FiO2 21%

Valori emogas

pH 7.438 [ 7350 - 7.450 ]
{ pCO, 32,1 mmHg [ 350 - 450 ]
{ PO, 58,9 mmHg [ 760 - 100 ]
Valori ossimetrici
otHb 111 gl [ - ]
Hete 341 % [ - ]
1 80O, 91,5 % [ 950 - 990 ]
FO,Hb 895 %
FCOHb 1.7 % [ 00 -20 ]
FHHb 83 %
FMetHb 05 % [ -15 ]
Valori calcolati
p50¢ 2483 mmHg
ctO,¢ 140 Vol%
pO,(a)/FO,(l)¢c 280 mmHg
Stato acido-base
L cHCO, (P)¢ 21,7 mmoilL [ 220 - 290 ]
t cHCO, (P.st)c 227 mmolL [ 170 - 200 ]
cBase(B)¢ -1.9 mmollL [ -20 - 20 ]
1 cBase(Ecf)¢ -2.5 mmollL [ -1.0 -10 ]
Valori elettroliti
I cNa* 135 mmoL [ 136 - 146 ]
i cK* 3.5 mmolL [ 35 -53 ]
cCI” 103 mmolL [ 97 - 110 ]
cCa® 1.19  mmoll [ 115 - 125 ]
Anion Gapg 10,6 mmoll
Valori metaboiiti
t cGlu 177  mgiL [ 70 - 110 |
T clac 2,2 mmoll [ 05 -16 ]

ctBil 0.0 mgAdL [ ~ ]



